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{ A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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Full Marks : 50 SET : B Qe el : 50

REG. — 2019 / EX-REG. — 2014 COURSE
N gqae qgfal@ HSC g91g121s G662 2@

Q9 S99 aoal 9ALIA6a 9& g4ae g8e! (PART - I - OBJECTIVE) &g aangighaies
QIER 6RER | AW GE TG YIQ FAIVRFUER SILIg OR QEQ SQIQS S8 IRIB FQA1 |

The Candidates shall take away this Question Bookiet (PART -1 - OBJECTIVE) after the
examination of this subject is over. It is important that the invigilators should verify
the Booklet of the candidates before leaving the examination hall/room.

PART - 1 - OBJECTIVE (MCQ)
OBJECTIVE QUESTION BOOKLET
AR/AXR — 15 — MTH
MTH — MATHEMATICS

SET

_ GQHSII&HG‘ G‘ﬂ@ﬁ' goal i/ INSTHUCTION TO CANDIDATES ]

2@ g499e 9daiea 505 Qgaag aeanea 949 QAUAINE | Y6IR g99a @aq OMR a6 el
G‘GQ@IQ@IGQ 6Ll Zledia |

This Question-Booklet contains 50 multiple choice questions. The candidates are
required to answer the gquestions as per the instructions given in the OMR sheet.
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Time : 1 Hour 15 Minutes eC O Wor . n Hd @a 50

Full Marks : 50
22 _ = 22
w @ Qo — fu | Takewas 7}

2 INUGER 508 g4 SLINE | F6SUR g4 AR GIEQIT a8 aaa GRIKING| caaae, O,
Q0% 918 OMR @9 TG6R A9 Y 9TQ FIR/PR! AR 994 9nA QIaI AALEIES
QIR /SR Q|

In this Part 50 Questions are given. Each question has four alternative answers. Choose the correct

answer from them and darken the appropriate circle completely in the OMR sheet wi th
the Blue/Black ball point pen.

ge6eye gga gai1 () &6s.
Each question carries 1 (one) mark.

ang 946 aee & |
Answer all questions.

1. p Q @AY 6@6Q 626M¢ 4AIXQ€ 1.  For which value of p, (2, 2) is @ solution
@ > 3x+4y—2p=0Q 9Q Qaeidie 629 (2,2) ? of the equation 3x+4y—2p=0 ?

(A) 3 (B) 5 &L ¥ (A) 3 (B) 5
M | ® 9 © 7 (D) 9

2., -3x+y+1=0 8 rx+sy+7=0 Q@G | 2. If the equations 3x+y+1=0 and

2IAGIO 626M, T 15 6Q6D ? rx +sy+7=0 are inconsistent, then what
(& : _ BTEY
(A) 3:1 (B) 1:3 (A) 3:1 (B) 1:3
(C) 5:1 (D) 1:5 © 5:1 (D) 1:5
. 5 4 _ '
3. GoRrIRIe |3 4 Q N 6R6Q ? 3.  What is the value of the determinant
[ ] .
5 4
Pf | = gl
(A) 8 (B) 10 (4) 8 (B) 10

© 12 (D) 14 € 12 (D) 14
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4. @8 6@ QA @QE 3x -2y +4=0 AMRAEN 4,  Which of the following points does not
Y RUER ZNEE Q6% ? lie on the graph of the equation
E | 3x—2y+4=07
(A) (2.9) (A) (2, 5)
\(B~ (L. 2) B) {2
€ « 8 (C) (4, 8)
@ (=2 -1 (D) (-2, -1)

5. 3x-y=2 Q 6Q¢ A2 §¢¥ 690 AMQAEQ | 5. The graph of which of the following

ERG QAR ? equations is parallel to the graph of
© 3x—y=27
7/(-3) 3x+y=-2 (A) Bx+y=-—2

B) 2x-3y=2 . (B) 2x—3y=2

@ 6x—2y=3 (©) 6x—2y=3

(D) 6x+2y=—4 (D) 6x+2y=-4
6. 6QISY QAE 6 QIRIQ IR AAE 3 | 6.  The sum of a number and its reciprocal is
/I“%EI@ x 6267, P79 g 695 x AR 3. If the number is x, then which of the

QA9 ANRQE ? following is the quadratic equation

) containing x ?
— (A) x2-3x+2=0 (A) x2-3x+2=0

(B) 23+ 1= "~ (B)  *2+3x+1=0

Q) x2-3x+1=0 ; (C) *2=3x+1=0

(D) x2+3x+2=0 (D) x®+3x+2=0

¥
L

7. p Q IR 6718 AU 6QQE 6R6M, 7. Wh1ch0fthefollow1ngbemgtakenforp,

C+px+1=0 ANLEQ R QY G the roots of the equation x>+ px+1= 0
p(_/ ACNR 62969 ? will be real and equal ? '
(B) 2.5 (A) 2 B) . 25"

(C)- 4 (D) 8 € 4 (D) 8-

f mem s e TAATE TR AT IOTT Tavem o=
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11.

B

Download Tech Of World App

P+xr+k=0 §AIO AMRQEQ IR @ —2
626a, k @ IR 6@69 ?

(A) 2 @ -2
(© -3 ) 0

Q9 609 §UIe AMRAIQ RO ANd
2 99° RQHR 9aae -3 ?

x2—-2x-3=0
B)  x2+3x-3=0
(C) x2-3x-3=0-—
(D) x2+2x-3=0

69N AP 6Q, t; OIf tg 25 AU 626R, 09
AP Q ARIQE 2IQ 6Q60 ?

5 (B) 4
©; 2 (D) 1

699 AP Q t =5n+1, 9'a ARIGE 28R

660 ?
(A) 7 N 5
© 3 1

N 12, & ARQAAINE FIQ 6896 AAIBR gD
Q62 ? :

10.

11.

12.

WtsApp/Call- 8596976190

—

If one of the roots of the quadratic
equation x2+x+k=01is —2, then what
is the value of k ?
(A) 2

) -3

(B) -2
(D) 0

Which of the following quadratic
equations has the sum of the roots as 2
and product of the roots as —-37?

(A) x2-2x—-3=0

(B) x%2+43x-3=0

(C) x?2-3x-3=0

(D) x2+2x—3=0

In an AP, t; is more than t; by 25. What
is the common difference of the AP ?

(A) "5 (B) 4
C) 2 (D) 1

What is the common difference of an AP
of Whi(_:h t,=5n+17?

A 7 ® 5
< 3 (D) 1

Which of the following sequences is not
an AP ?

(A) 1,3,57,9, .

@ 08~k <8 .

(©) =7 =5, =8, -1, 1, 3, .02
(D)  ~6, -4, =

T wawm
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L IRRLIN LT WAy o == :

13. #% AP @ Sn . n.’l’ l-|'| = CQREQ 7
& (r\) 2n (\(B) 2n — '1
(©) 2n+1 (D) 2n+3

14, 6163 QAN ARNFYLTR AIRY Y QI
QeQq AR QA6 ARe g6a, cafine A’

D QRISY FE QRIAN ?

(A) 9946

(B) dQeR

(C) awreAIR

el

15. Xy Xy, Xa oorrs Xy MRAUISYFRR ARAIR
M 626®, axy, axp, AXz, .eeeeeeen A
(6969696@ a#0) AAISAIRFR AR
6Q6Q ?

(A) M (B} M+a

GE

L\_Lg//gzm 20 & ¥RIAe 49 Qe@ue FRIAIR
6960 ? :

(D) M-a

209 21

@ 22 (D) 24

- WS m m WS = W W W m W wWes m o= oE =

13.

14.

15.

16.

WtsApp/Call- 8596976190

==
In an AP, S,=n? what is t, ? :
(A) 2n (B) 2n-1
(C) 2n+1 (D) 2n+3

What is the middle of the scores in a data
arranged in ascending or descending

order known as ?
(A) Deviation
(B) Mode

(C) Mean

(D) Median

If M is the mean of -the scores x;, x,, X3,
.......... , X, then what is the mean of the

SCOLES aFy; "Billpy By weesenses , B
(When a#0) ?

A) M (B) M+a

(C) aM (D) M-a

What is the mean of the first 20 positive

even numbers ? '
(A) 20 (B) 21

©) 22 (D) 24 '
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F6a 9a SAIIRI PG Q60 ?
7,12, 15, 6, 20

(A) 12 (B) 10

< 7 (D) 8

6AIT QREAIT] 26a ARIRER TR 5 9 oF
0l @F 62918 ARINYSI 6860 ?

(D)

W

(4)

wln onu,

[ Y le))

(©)

. 19. 988 qQl 260 9Q @aIaRl | 20 QFea 99

A

20.

l

(A)

©

T 2GR NS 6969 ?
f

A"

@ T (®)

(© (D)

= N

W |

6415 @R6a QI 4 @4 &2 6 6 94 QAR
g Qg 6aIc dal QI@em, 61 GRIT
635 € 62919 ARG 6960 ?

(B)

ur|ro | =
wlw wN

(D)

1 CUIHIVIVWUIIUL LT

17.

18.

b

20,
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SET !_Bj
What is the median of the data given
below ?
7,12, 15, 6, 20
(A) 12 (B) 10
(Q 7 (D) 8

If a ludo-dice is rolled once, then what is
the probability of getting 5 or less than
that ?

3 5
(4) § = g
6 2
ONG @) 3
Two coins are tossed once. What is the

probability of getting at least two T’s ?

(A) (B)

© D) .

W0 =
N I N N

A child is chosen at random from a group
containing of 4 girls and 6 boys. What is
the probability of the child being a girl ?

1

® 7 ® 2
2

@51 ® 3

QCP @AQI AI® / EPACTE ENR ROTICOLT YATANn T
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66lIGY QYIEIER AR 2IRNeQ 56 AR, 36

AR B 26 2R%2 QIR gR AR | 1Y

QAQR! 6615™ AIN STIND IR Q[ AAIMG!
660 ?

(%) | o

(A) (B)

99

= ul=

© )

[\22/2@/@61@@ a1ddQ 9aa ARS (0,0), (1, 0)

P

23.

c

"\24.

D

g (0, 1) 6261, SYPR QTR 6R6E G
Qe ?

(A) 1 (B).

g S

© 3 ©)

B N 9990 f6a 9ael 5499@ | M @
Qfie ca1@ (3,1) 8 N Q9% y-UQ Qdea
21080 c26q, N & Qfio 61§ 660 ?

0, 4
©, 5)

(A) 40 (B)
© 60 (D)

G54 cadigaa fUGg 6208 RRg N9
9@ 91280 6208 (2, 3) | 6969 @719 6aud
2 gie 99a |AQ 6AIG ?

@ (33 ® (-2.9)

© @ -3) D) (-2 -3

21.

22

23.

24.

WtsApp/Call- 8596976190

Rose flowers of equal size are contained
in a bag and of those 5 are red, 3 are white
and 2 are yellow. If one is taken out from
the bag at random, what is the probability
of getting a red rose ?

1
(A) %— (B) 3

3 1
© 1 D) 3

If the co-ordinates of three vertices of a
triangle are (0, 0), (1, 0) and (0, 1), then
what is the area of the triangle in square

unit ?
1
@ 1 (B) 7
1 1
© . 3 O 3

The distance between two points M and
N is 5 units. If the ordered pair of M is
(3, 1) and N lies in the y-axis, what is the
ordered pair of N 7
(A) (4 0)
© G0

(B) (0, 4)
D) (©5)
The origin is the midpoint of a line

segment and (2, 3) is one of its end point,
then which of the following represents the

ordered pair of the other end point ?

@ (33)
© @ -

® (-2,3)

(D) (-2 —3)
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—_—— - - I — '
25. Q@@ @ A G BQ QIRIE Q2IFESI (a, b) G 25. The co-ordinates of two points A and B
(@, —b) | 6QAITFR QAGI 66 ? are (a, b) and (a, —b) respectively. What
is the distance between them ?
28 o (A) 2a
b (B) 2b
(). P ap? (©)  Va?+p?

(D)  2yaZ+p2 (D) 2ya2+p? |

26. AQE QAAQIg g 689TRQ AQAIS 26. If the ratios of the areas of two equilateral
16 : 25 626Q, @9 Y YL LA ALQE triangles is 16 : 25, then what is the ratio
QIEQIPIR 6TCIQ AYAIQ 6R6E 6269 ? of the lengths of the corresponding sides

D of the same two triangles ?
(A) 3:4 (B) 6:5 (A) 3:4 (B) 6:5
(C) 5:6 (D) 4:5 (© 5:6 (D) 4:5

4

\VQ’@QGQ, mZQ=51°, mZQSR=102° @ 27. In the given figure, mZQ=51°,
ASQR ~ ARQP 626@, mZPRS 6269 mZQSR=102° and ASQR ~ ARQP. What
e ? is mZPRS ?

(A) €5° B) 70° | (A) 65° ®) 70°

(
(C) 75° (D) 80° (C) 75 (D) 80°

QCF QQQI AIO / CPAAT TMD DATTATT Tarre e
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AABC 8 ADEF €16Q@ msZA=m«D,
mzZB=m<E, AB=264a.81., BC=3 6Q.§.,

P“ 6 DE=6 64.61. 626®, EF 660 64.§

6eQ ?
(A) 9 B) 7
Q) 5 (D) 3

WQ DE=3 6Q.8. EF=4 6Q.8. 6

€.

30.
31.

(e

5:12

~ APQR 6@ PQ=9 6.8. | ADEF 3 APQR

QQ48 626m, QR 6960 6Q.6. 629 ?

(A) 13
© 12

(B) 14

(D) 16

APQR 6@ ZPQR @ Q¢g¢€@ PR @ S
QREQ 629 @6Q | PQ=5 64.4. 6
QR=7 6Q.51. 626m, PS: PR 6960 629 ?

« B)
(D) 12:8

12:5
©) 8:12

661G Qa0 2a6 941 PQ @ RS aeqeq T
IR6Q 629 Q@8 | RT=4 62.4.,
ST=364Q.8., QT =66Q.7. 626@, PT 6260

6Q.4. ?
:

(D) 4

A 1
Q 3

28.

29,

30.

31.

WtsApp/Call- 8596976190

| Boomt] |
In AABC and ADEF if mZA=m/D,
m£ZB=m«£E, AB=2 cm, BC=3 cm and
DE =6 cm, then what is EF in cm ?
(A) 9 (B 7
C 5 D) 3

In ADEF, DE=3 cm, EF=4 c¢cm and in
APQR, PQ=9 cm. If triangles ADEF and
APQR are similar, then what is QR
incm ?

(A) 13
© 12

(B) 14

(D) 16

In APQR, the bisector of ZPQR intersects

PR at the point S. If PQ=5 cm and
QR =7 cm, then what is PS: PR ?

(A) 5:12 (B)

) 8:12 (D) 12:8

12:95

Two chords i’ﬁ and RS of a circle
intersect each other at T. If RT=4 cm,
ST=3 cm, QT =6 cm, what is PT incm ?

(Aa) 1 B 2

€ 3 (D) 4
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_ R
32. 9@ g6a PQR Q@ &ag ‘O 32. In the given diagram, ‘O’ is the centre
mQRP =230° 6268, mLPXQ 6760 ? the circle PQR. 1f mQRP =230, hoy,

g much is mZPXQ ?

(A) 140° e (A 140° B 115°
(© 105° (D) 100° ' (C) 105° (D) 100°

33. EF Q@69 DE 9@ 9419 | m DFE 6969 ? 33. DE is a diameter in the circle DEF. How

- much is mDFE ?

(A)- 180° (B) - 1358 | (A) 180° (B) - 135°

(C)-. 120° : (D)~ 118° (C) 120° My 115°
34. €GN QT NQLE TG YRR 8 6FAR | 34.

What is the relation between the degree
PR RIER AHG & ?

unit and radian unit used for measuring

an angle ?
(A) 5 cogaIR=40° _ (A) 7 radian=40°
(B) 333 6@ IR, =100° (B) 2—;T*radian=1000
@ 5 6efaIR=90° - (©) % radian=g0¢
(D) = 6Q@AIR =120 (D)  mradian=120°

-—
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o8 9860 KLM Q8@ 689 O 9e° P §gq,
Q9 QR 99 UTO AWAQUR AEIQ K 6

M| 98 mZKPM=70° 24, 6069 m KLM

C/ 660 ?

36.

™M
(A) 140°  (B) 120°
@ 110° (D) 100°

-
Qe 526Q, NMT Q@a 6aQ ‘O’ | PT @9
Qaq T 396a @ Q49 | PT= 40 6a.4.,

OP =41 6Q.8. 626R, OT @ 6?4y 6@6Q
6Q.¢. ?

(Ble 12

(D)

24.5

3n,

36.

WtsApp/Call- 8596976190

o
In the given diagram, O is the centre of
the circle KLM and K, M are the points of
contacts of the tangents drawn to the
circle from P. If mZKPM=70°, what is

m KLM equal to ?

(A) 140° (B) 120°
(C) 110°

(D) 100°

In the given figure, ‘O’ is the centre of the

_).
circle NMT. PT is a tangent to the circle
at T. If PT=40 cm, OP=41 cm, then

Can Y

what is the length of OT in cm ?
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> .
o8 Ggea ABC 9@ g6 A 998 TA @84
m/CAB=75° 9g° m£TAB=235" 6264,

mZABC 6@6Q ?

C B
" s ——>T
(A) 55° (B) 60°
(©)) 70° (D) 50°

9 QR 668 O, B8R ANRER AFWE <Fe
@ @9 P | PT @9 98 96 9@ adens
626R, mLTOP+m<TPO @ AIf 6262 ?

(A) 30° (B) 45°

% 60° _ 90°

QRF 29:9d1 900 09 AIQY AT &I
6Q60 ? '

(A) 4 B 2
1 (D) 3

QaF IR RLR@ L8R AFYQLR AR
88 62.91. 626, 7B QNG RN YU 660

37,

38.

39.

40.
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In the gi i TA
n the given figure TA is a tangent

to the circle ABC at A. If msCAB =75°
and m£TAB=35° then what is mZABC ?

- T
(A) 55° (B) 60°
© 70° (D) 50°

O is the centre of a circle and P is an

exterior point in the plane of the circle. If

PT is a tangent segment to the circle, then
how much is m£TOP + m£TPO ?

(A) 30° (B) 45°
(C) 60° (D) 90°

What is the number of direct common

tangents of two internally tangent
circles ?

(A) 4 (B) 2
C) 1 (D) 3

The difference of the ciréumferences of

two concentric circles is 88 cm. What is

@) 64.6.? the width of the concerned circular
3 annulus ? ;

(A) 7 14 A 7 (B) 14"

(OK 21 D) 42 ©) 21 (D) 42
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41, 616 ARNRIR CAGTR ANS Q66 6HgUeq

. ”
’?D< %ﬁ 626, A9 SIAQ @91 afiIa cagg 2
(A)
€

60° (B) 120°
189°

@ 198°
42. 60164 @QLIQR gF 8| 9@ §RaR 2iaee
K a3 a9 6ad. 6 eeel 7 cad. | qQIQ

O gf 9@ QAL IR 626R, ia geoue
Qea 624y 6@6o 6.8, ?

(A) 73
© 53

(B) 63

& +a
43. 6QIg Q §iQ uIAIF 6 62.8. 8 A0

7 62.6. 626R, 6RINEQ UIYAOR 6QEQ

C/ Qd 6a.8. ?
240 250
(a) 2w @ >

44, caISN GRaq 2100 39 HINIAIRR §9a

\ Mad 2 ca.fi. 6 @99l 9 62.4. | 6969

MYU6R ARIR 6@60 BIR 6.4, 9aR aqiel
QRAIGQ ? .

v (A) 142 (B)

@) 154

145
(D) 156~

41.

42,

43.

44.

WtsApp/Call- 8596976190

11
The area of a sector is == th of the area of

20

the corresponding circle, what is the

degree measure of the arc of the sector ?
(A) 60° (B) 120°
© 189° (D) 198°

The volume of a prism is 8443 cubic cm
and the height of the prism is 7 cm. If the
base of the prism is an equilateral triangle,
then what is the length, in cm, of each
side of its base ?

(A) 73
©) 53

(B)
(D)

6-/3
43

What is the volume, in cubic c¢cm, of a cone
with 6 cm as radius of the base and 7 cm
as height ?

A o ® =
(C) 84 (D) 87x

The inner radius and hejght of an open
cylindrical vessel are 25 cm and 9 cm
respectively. What is the greatest number
of cubic cm of liquid it can hold ?

(A) 142 (B) 145

(C) 154 (D) 156
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cos (A+B)+cos (A— B)= 660 ?

(A) 2sin A-cos B

(B), 2cos Assin B

@ 2 cos Acos B

(D) 2sin A-sin B

cot 80% % cot 70° X cot 60° X v X cot 10°
Q fIe PRY 600 Q2 QAR ?

(A 0
© 2

1

B
3

ALMN 6@ sin(L+M)=1 626, mZN
6@60 ?

(A) 60° (B) 40°

©) 120° (D)Y135°

- P
487 Q%@ cot B='g 24, 606Q cosec?d @ AR

5.

6Q60 ?
2 B 25 3
P —q p-+q
B
(A) q L) q2
2 2
q- q
& L)
(© pz_qz (D) p2+qz

45.

46.

47.

48.
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What is the value of
cos (A+B)+cos (A—B) ?

(A) 2sin A-cos B
(B) 2cos Asin B
(C) 2cos A-cos B

(D) 2sin A-sin B

Which of the following is equal to

cot 80° X cot 70° X cot 60° X .......... X cot 10° 7
(A) O (B) 1
© vz (D) V3

In ALMN, sin(L+M)=1. What is m£N

equal to ?
(A) 60° . {B) . 90

(C) 120° (D) 135°

' P
If cot 6= q- then what is the value of

cosec?f ?
2 .2 ) 2
P prig
A
(A) a2 (B) =
2 2
9 q
(8
(©) P2 (D) e
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O< 6@6Q ?
D (A) —cos B
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A+B+C=90° 626®, cos (A+C) @ fIg

cos B

(B)

(C) —sinB

sin B
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——
If A+B+C=90° then what is the value
of cos (A+C) ?

—cos B cos B

(A)
(©)

(B)
(D)

—sin B sin B

ofworld.In

<o
ST

represents a horizontal plane and RS
represents a pole. If the distance of T from
Sis K metre and a man at R sees the point
T at an angle of depression of 30°, then

_ o
In the given diagram RS 1 ST.

what is the length of the pole RS in
metre ?

Sim

e
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